
ESERCIZIO

Calcolare l’area della seguente figura piana:

A = {(x, y) | 0 ≤ x ≤ 1, 0 ≤ y ≤ x2}

Area(A) =

∫ 1

0
x2 dx = [

1

3
x3]10 =

1

3
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ESERCIZIO

Calcolare l’area della seguente figura piana:

A = {(x, y) | 0 ≤ x ≤ 2, 0 ≤ y ≤ ex}

Area(A) =

∫ 2

0
ex dx = [ex]20 = e2 − 1
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ESERCIZIO

Calcolare l’area della seguente figura piana:

A = {(x, y) | 0 ≤ x ≤ 4, 0 ≤ y ≤ x2 + e2x}

Area(A) =

∫ 4

0
x2 + e2x dx = [

1

3
x3 +

1

2
e2x]40 =

1

2
e8 +

64

3
−

1

2
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ESERCIZIO

Calcolare l’area della seguente figura piana:

A = {(x, y) | 1 ≤ x ≤ 3, 0 ≤ y ≤ 1
x
}

Area(A) =

∫ 3

1

1

x
dx = [loge x]

3
1 = loge 3
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ESERCIZIO

Calcolare l’area della seguente figura piana:

A = {(x, y) | −1 ≤ x ≤ 1, −ex ≤ y ≤ 0}

Area(A) =

∫ 1

−1
ex dx = e−

1

e
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ESERCIZIO

Calcolare l’area della seguente figura piana:

A = {(x, y) | 0 ≤ x ≤ 2, ex ≤ y ≤ x2 +5}

∫ 2

0
x2 +5, dx = [

1

3
x3 +5x]20 =

8

3
+ 10

∫ 2

0
ex dx = [ex]20 = e2 − 1

Area(A) =
8

3
+ 10− e2 +1
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ESERCIZIO

Calcolare l’area della seguente figura piana:

A = {(x, y) | −1 ≤ x ≤ 1, 0 ≤ y ≤ x2 + e−x}

Area(A) =
∫ 1

−1
x2+e−x dx = [

1

3
x3−e−x]1−1 =

1

3
−e−1+

1

3
+e = e−

1

e
+

2

3

Esercizi sugli integrali


